37
CBSE RY iNa| Nnecw
Mochars
prgab(,é'oQ .S.“t-pma*"wu 92, e |9] AL Yy v
bubs cf- om /w@"m?wt"s apﬁm wl| - 1950 ’Sdndﬁlﬂr- b 5
Wl slwka 1 51 bile | b wilp Hnd J/!‘ gun' el v (| TV G?uf o whoy|dey
l/V‘V\cls £ /
[vEJ )zf/} hc«"f_ 0)« )\eed
v folos ELfH Y By EYe
Qo167 | | 13|37 92 4986 3. €9
2l 13139 o YAHS 3,169 AGS0 doik
31 |3|38ks 442 3168
d4| [3[35]ie 44|28 Y.0¢
s 1213940 19 |50 4.0
61 [3|90]10 Yo|05 Y.¢3
i 13|40| 40 So|26 L )79
etz 11131 2o 491§ 3B 1445
2l abso | |eqed | (P& | 317 =
alin] 4720 4949 430 |3y (497% D
4| 3|17|% 49H0 3% | 3189 e &
¢ |3uY 3p 4Qg a/ley] | 4lin
L3490 doolo | 127} [ulsd
7l134d s | | 48| gl | 3%
o N adss
C()C’?lﬁ‘} /|l 1%5:|58: 2o 15138 | oo, 2l *ng Siizmg ,}9
&l (5:591 % I 35 |pole2d 23 40| 9YQ2.2 Auaf
3| 44:0019¢ L2 1345| pg. /8 107 X7 |50.2 /L6y ‘
4 Uy: orisa A A B S WA o3l D/ b2 R @
DOME /5 mu%f
dos 7az8 |1 Yloti e | 1S |35 2 1 Y ~Q3r5H . B2 "r
2| 4:p7 30 Q. i/ /2, / (|92
3 Yyl osl-4e oo . g iy P duad.
4 4109, sp 0. bg B/
mp Qe | 4p Mlid 25 :
AN e | ! iSlzg Bslu| 4] vq|sp.a M 13 -
I4 sele. W xp M
% ndedl qu |mowe. [V GO @ast ’fm'ﬂ'-;}uf/
Ched k.1




o i
Gdothen | desy {XQuSUAdL shuel aphothed 20" lpgut
1950 ((tvbo 7))
Hpe e J Q0 kg .
1 %1 / [H: 20 {¢S i B3 M | a4 DI 5¥.0 013 | Blrmas)s
2 i piis] ‘ 41,10 &1 .4
3 i B2 {14 Uiz 87.% M Dag
¥ WHe 3 LT 4113 G QUAT .
| 1: R4 p 15 |33] 41 | o 43 15515 | |t.dog Pidmiss
o | | ith28ipd | bylse 4044 | ol 47 |57lg MIDAS
bl : : QYAL
3 IM:29dpa 91,1 51,9
q - B3 00 41, tb 51,9 qedi=- [ <ap
0 1618 | i [ B3 159 15 123 .0f | o907 56.% Nob7 | Aedasls
r Vi (e b Y5, 1 4e.nd 5.4 O ot 45
3 1#.35: 5D 1 | 4 02 1 st P
4 /4: 36 |5 : ¥l.45 &R
=y B WA B VE 00 TIVY: 5133 Wriod Lot o 4xl | V. 053 Aiepabs
A Ll 2| /442 :bp /s e, 8L ) I 54 ¢
A Wfig 3| /44500 151 28 | 9400 ST ¥
i | 11 1749k % po 40,97 57. 9
c»-;,ﬁu A\l 4D | v4ces X Llle | 1018 | n:\__:{' conple e ¢ n-Hn‘;Ir\d
el Midas! duads uf g ladeeds | Baood ~ halie ¢ 3 tire.
el bobo| of |Hrex [wiale wehivh bob f19 ;
| 9| Cop bt I | /4 451> (5133 40,195 oY Jd 458 20 slec | g
| R Ml 49 :|13s] 40 (92 5780
L ‘@“Z}b 3| |l slpdre 40,49 53 st e
e 3 4] |dl.sh %o 48 9 =99 [ DY |Aema
Hell
(0] doO[TeYl / 454 5P 15| 33 0. g4 b9 [5%]a Sl B
1 ] 2] 1444550 4o, <4 s YOI tiga:
| ML 3] 41545 4. g 58 g
il g 0 4] | [.5p-90 al €q.5
Wy
it 18]
AT




39
il | cop Tegp il [IS[OY0] |9 3[448 | of p9 |57 1642 Pk s
2 Stol 4 (2 33 | 4pgl |8 o7 k71T
WidhS | 4 /Sh07 4o | lol7ad | |o | $2.7
02(;{705,1 4 41 LstoY.dp 403.7% P i
ke
M- |
At |6+ Pl | (1 1) Doag et 4.5
e Y73
Cooqesd 1| Uslif:ds” 1§ PS5t onsg| A3 lsol9.F| AR | PLotn l@uAn
2| &1zl (5 00,S 7 39.9
R o o050 G919 | hop| |6q 8¢ (Meseik
4 LE/4: 35T 28,51 Vol d WAE S | frav Ed
TO G5 | Rép, )
. M@fz /9 oty | sfalblih \pdad e B
{
ro0Ta¥N |7 | AS/8:3 | |9 35 -joolsy 4350 |0d %l |209¢ Pli fo| Qban.
Z | 25 1/2v 43 Q0|47 7717 Ll ade 243
31 /8 20 SE” 00| 7 VAN i
41 4522l pls— 00, 077
I dodzprsT 1| uShab:ipol |13 A5 |ed.da |-dseed 7 | AoPA | £ | ddad
| YSto7:ilo 0b, 4o 39, & 20\ e
3| Ysizazta 04,39 99 Lo
: 4| 1s5) olg | 3n &0, BY s .
'ilh’:’ i, A QJ pat®
15| _doo| T4 8 |/ 19: 3%/ 5 |35 op .83 [~3 gp 29k 39 | 2 dugd
2| /13949 oy, 3 VAV 20) 68 fyol i
| lyed I ligteq g5 W EEY| 49 |4
| J5h3diygs oL 3l 59,4
BEolrar | iAnE T
B{?:\ ’/
copibsn i | A5 3did 45 Bst v b7l Lalst 559 f
2| g5 25k 1.087
ST 32 341 3Y o4 1 4.
4 (0] )] 00« Lie 59.4
st hd e Wb el W T




< I ._
—+ =~
JEVE R < 3
= Y } Y
o 9 S
£ ] .l.l,ll ==l
= = = g
= o
S
SN o et — -
o o | 3 ﬂw SN TR N e - = SO o e s 0 o) Gl 4:
= SRR ane - e ,.WJ B < Sy Lo
ol A ¥ w I Y N AT &l = oA N N W
N o a 2
) ) e e fal Ny -
e 5 S =X
~ b3 X,
S : . re _ 3
o [ PR
~| Y ~ o
~ LY - ‘J
™ o~ r— = Fat
g o ] Y lw T e v ] ~ ~
NEXE e HiEEE 29199 [§93° .
SRS = O o A== J ale 2
4l m s 2 s e SRS sSed fou o =
e ) \ \ =21 :
N : < .
e NN R 4% ,.AM o gl ]
e = S
‘W.-Jl ,,LIJ.‘ (J ’...__H.c/ e ~
) )
3
wb .\) —.b mc\u _b :
R EBAE=R ; &) ! 2 H\A
e ...w N o D A\~ 2 1w A \A e ,% Wa ,.% e w.b R s
~ o [ I . D 20 e | ) S —_— ) g
N 5 oF s e Sl R B =
9 by ] — P Cr.. o of . d.. o EoA < ~ 2y i il 0 o =
9 .u.. S RS %2 IR Y2 Iy AXe Wd g ) Sk nw S xOﬂw.. & o
ol N o T = = e B Y =
CEEE PR Wiy | $ 3 9 A .
- of o = >
1 o A=t o e | e T G e A P B S i e s
[ S
Y = fl“l Sy o
=i 4 = > 3 = P
T £ ~ T s = 7,. %
- H T 35 D e = . - :
= ) b i - k= : bl \M S = -
T\w o = +J = = x — o) J Wv < =y =4 - m.
g > =3 = e 3 >~
WJ >l = - =~ =5
< ﬁvuw o — ~
% § ¥ - ) o o X s o= 4] S
U= ’
&>
¥

it es | 6

— ]
T He
"= -

- 4
—~1 H
=

o
i

AT R
|

-~

o

o

-

-

-

A

o

ki




